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The production capacity of JAS Ltd is of 40,000 units. Normal capaci te
at 90%. The production variable cost i1s < 22 per unit. Fixed facto er

< 14,40,000. Non-production costs are as follows :

Variable : Administration ¥ 8,00,000, Selling ¥ 1,60,000 0(
Fixed : Administration I 7,00,000, Selling I 3,08,000

Operating data are as follows :

Production : 32,000 units, Sales : 30,000 units, O inished) : 2,000 units.
It was reported that material cost was increa J0 Against estimate.
Selling price per unit was I 150.

Prepare income statement as per
prepare reconciliation statern‘ f

Attempt the followings : 14

(a) Margin of safety 1 (40% of sales) P/V ratio 1s 25%.
Calculate :
(1)

( ofit on sales of ¥ 15,00,000

rovided following information :
013 ) 2014 )

Sales 4,05,000  5,13,000

rofit 10,800 32.400

alculate :

(1) P/V Ratio

(11) Fixed cost

(111) Profit/(Loss) when sales is T 6,48,000.
(iv) Sales required to earn profit of ¥ 1,08,000.
(v) Break even point.

(vi) Margin of safety for 2014.
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2. Him company producing and selling three products in the market. Labour hour rate is
< 22. There is shortage of labour. Consider the following informations.

(Per unit in )

From the above information :
(1) Determine optimum product mix and
(i1)
OR
A company manufactures two different produc
contribution is ¥ 50 and I 40 respectively.
production process and are sold in two differ
of 40,000 man hours. Three man hours
and one hour for one unit production
10,000 units of B can be sold. Subj
any combination. Develop LP mod

(a)

(b) What is linear progra
3.  There is one expansion
to develop new market
Proposed increm
(1) Televisio
(i) Additi

side of country.

expense would increase by 25%.
intment, yearly expense < 40,000.
would go up by 10%.

increase by 10,000 units.

urrent year was as follows : (X in 000)

d

Particulars < <
. 40,000 Units @ I 27 per unit 1,080
on advertisement 110
At salary 90
Travelling expenses 40
Administrative expenses 20
Other expenses 20| 280

Per unit production variable cost is T 12.

(1)
should go for new market or not.

(11) Prepare differential cost and revenue statement.

OR
19]J-102 6

Prepare profitability statement assuming that there is no co

. Product | Product | Product
Particulars M N 0
Selling price 200 138 170
Manufacturing cost : Variable 103.20 70 84.80
Fixed 54.40 39.60
Non Manufacturing cost :  Variable 10 7.90 '5
Fixed 14.20 11.80
Labour cost included in manufacturing variable cost 48.40 33 B
Maximum production and sales (units) 3600 8000 ()

Their per unit
ed in a common
roduction capacity is
e unit production of A

12000 units of A and

ssumptions and limitations.

, products can be sold in
ation of profit.

e management of Rudha Ltd. They have planed

Determine incremental return on incremental sales and suggest whether company




Attempt any two : 14

(a)
(b)
(c)

4. (a)

(b)

(c)

Differentiate between marginal and differential costing.
Explain the concept of relevant cost with illustration.

A company had purchased machine for ¥ 1,00,000. It has book value of ¥ 30,000,
but has become absolute and cannot be sold. However if the firm is willing to
modify the machine at a cost of ¥ 40,000 it can be sold for ¥ 65,000.

Determine :

(1) Irrelevant cost

(1) Relevant cost

(111) Relevant revenue
(iv) Incremental benefit

Discuss characteristics and objectives of just in time approach.

OR
Discuss main features of target costing.

Attempt any two :

(1)  Sources of Waste.

(i1) Product Life Cycle.

(11) Explain : Target costing.

State whether following statements are 3
(1)  Product Life Cycle 1s useful con
14
(a) Profit plann (b) Market survey
(¢) Valu 1 (d) All of the above
(2) Targetgo
: (b) America in the year 1970
(d) Japan in the year 1970
. 0 (b) Wastage of asset
Wastage of time (d) All of the above
ich of the following is inventory related costs ?
Cost of warehouse utilities.
(b) Cost of warehouse employees.
(c) Interest cost related to the debt that funds the inventory investment.
(d) All of the above.
(5) Each product has to face stages of product life cycle.
(a) This 18 correct statement
(b) This 1s incorrect statement
(c) This is partially correct statement
(d) This 1s irrelevant statement
7 P.T.0O.
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(6) The basic difference between absorption and marginal cost is accounting effect of
(a) Factory fixed cost (b) Administration fixed cost
(c) Selling fixed cost (d) None of these

(7) A company manufactures and sells a single product. The following datas relate to
a weekly production of 5,760 units.

Per unit () Per unit ()

Selling price 160

Less costs : ‘
Variable cost 80 ‘
Fixed cost 50 130 \

Profit 30

What 1s weekly break even point in units ?

(a) 1800 (b) 2880

(c) 3600 (d) 9600

(8) Budgeted sales is 20,000 units. Total contribution is I 480, t selling price of

< 24 per unit. Fixed costs 1s ¥ 6 per unit based on al antity. What is
budged variable cost per unit ?
(@) T3 (b) X
(c) 15 1
(9) Differential cost deals with

(
(a) Sunk cost ‘ b) evant cost
N

(c) Historical cost None of these

(10) Which of the followi istic of relevant cost ?

(a) (b) It is cash out flow
(c) st (d) None of these
(11) For 10,00 production cost under marginal cost was I 1,00,000

sorption cost was I 1,20,000. What will be per unit factory fixed

(by T 12
(d) None of these

amming deals for
Optimal decision making (b) Maximization
Minimization (d) All of the above

Which of the following are, areas of Linear programming ?

(a) Production Management (b) Marketing Management
(c) Financial Management (d) All of the above
(14) Key factor
(a) Indicates shortage (b) Deals with hurdle
(c) Deals with optimization (d) All of the above
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